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MONTH OF OCTOBER 

TEST IV 
 

UNIT - I GENERAL SCIENCE – ZOOLOGY 
UNIT X – APTITUDE AND MENTAL ABILITY 

 
 

 
41. If a : b =  4 : 1, then the value of / /a b b a+  is   

a. 
5

2
   b. 4    c. 8   d.  3

2
 

a : b =  4 : 1 vdpy; / /a b b a+  -d; kjpg;G  

a. 
5

2
   b. 4    c. 8   d.  3

2  
 
Ans:  

4 1

1 4

1
2

2

5

2

= +

= +

=

 

 
42. The sum of three numbers is 38.  If the ratio of the first to the second is 

1:2 and that of the second to the third is 3:5 then the second number is  
a. 6   b. 12   c. 18   d. 24 
%d;W vz;fspd; $Ljy; 38.  Kjy; kw;Wk; ,uz;lhk; vz;fs; 1:2 vd;w 
tpfpjj;jpYk; 2 kw;Wk; 3tJ vz;fs; 3:5 vd;w tpfpjj;jpy; ,Ue;jhy; 
,uz;lhtJ vz; 
a. 6   b. 12   c. 18   d. 24 

 
Ans:  
Ratio of first to second  = 1:2 
Ratio of second to third   = 3:5 
 = 3 : 6 : 10 
  3x+6x+10x = 38 
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9x+10x = 38 
       19x = 38 
     x = 2  
Then the second number  
    6x = 6(2) 
    = 12 

 
43. 95 litres of mixture contains milk and water in the ratio 15 : 4. How much 

more water is to be added to get a new mixture containing milk and 
water in the ratio 3:1?  
a. 5 litres   b. 6 litres   c. 8 litres   d. 7 litres  
95 ypl;lh; fyitapy; ghy; kw;Wk; jz;zPhpd; tpfpjk; KiwNa 15 : 4 Mf 
,Ue;jJ. ,g;nghOJ rpy ypl;lh; jz;zPh; Nrh;f;fg;gl;lgpwF mjd; tpfpjk; 
KiwNa 3 : 1 Mf khWfpwJ vdpy; vt;tsT ypl;lh; jz;zPh; 
Nrh;f;fg;gl;lJ?  
a. 5 yp   b. 6 yp   c. 8 yp   d. 7 yp 

 
Ans:  
Milk : Water =15 : 4 
Milk = 15x 
Water = 4x 
15x + 4x = 19x  
19x = 95 

Milk = 15x = 15
95

19
  =75 

Water = 4x = 4
95

19
  = 20 

Let y l of water be added to the mixture. 
 

75 3

20 1y
=

+
 

60 +3 y = 75 
3y = 15 
y = 5 

 
44. Third proportional of 10 and 30 is 

a. 40   b. 30   c. 90   d. 33 
10 kw;Wk; 30 Mfpa vz;fspd; %d;whtJ tpfpjhr;rhu vz; vJ? 
a. 40   b. 30   c. 90   d. 33 

 
Ans:  
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 Let x be the Third proportion of 10 and 30 
a : b = b : x. 
10 : 30 = 30 : x 
10 30

30

30
30 90

10

x

x

=

=  =

 

 
 

45. 1 1 1
: :

x y z
= 2 : 3 : 5, then x : y : z is 

a. 2 : 3 : 5  b. 6 : 10 : 15  c. 5 : 3 : 2  d. 15 : 10 : 6 
1 1 1

: :
x y z

= 2 : 3 : 5, vdpy; x : y : z vd;gJ 

a. 2 : 3 : 5  b. 6 : 10 : 15  c. 5 : 3 : 2  d. 15 : 10 : 6 

 
Ans:  

x : y : z = 1 1 1
: :

2 3 5
 

L.C.M. of 2, 3, 5 = 2 × 3 × 5=30 

Thus, x : y : z = 30 30 30
: :

2 3 5
 

x : y : z=15:10:6 
 
46. Find a positive number which when increased by 17 is equal to 60 times 

the reciprocal of the number 
a. 17   b. 15  c. 8  d. 3           
xU kpif vz; kjpg;Gld; 17I $l;Lk;NghJ fpilf;Fk; kjpg;ghdJ 
mt;ntz;zpd; jiyfPopapd; 60 klq;fhFk; vdpy; mt;ntz;izf; fhz;f 
a. 17   b. 15  c. 8  d. 3    

 
Ans:  
Let the positive number be x. 

x + 17 = 
60

x
 

x2+17x−60=0 
(x−3) (x+20)=0 
Since the number is positive, so x=3. 
The required number is 3. 

    
47. Which of the following number is divisible by 9? 

a. 67594310  b. 96345210 c. 8576901  d. 2784224 
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fPNo nfhLf;fg;gl;Ls;s vz;fspy; 9My; tFgLk; vz; ahJ? 
a. 67594310  b. 96345210 c. 8576901  d. 2784224 

 
Ans:  
8576901  
Since sum of its digits = 8 + 5 + 7 + 6 + 9 + 0 + 1 = 36  
36 is divisible by 9 Option (c) is the correct answer 

 

48. 
2 3 4 5

, , , ,?
5 255 5 5

 

a. 
6

5 5
  b. 

6

25 5
  c. 6

125
   d. 7

25  
 
Ans:  
In each successive term, 
Numerator is increasing by +1. 
Denominator is multiplied by 5  

 
49. Find the wrong number in the series : 

1, 3, 10, 21, 64, 129, 356, 777      
a. 10   b. 21  c. 64  d. 356 
vz; njhlhpy; jtwhd vz;izf; fhz;f 
1, 3, 10, 21, 64, 129, 356, 777      
a. 10   b. 21  c. 64  d. 356 

 
Ans:  
The series is  
1×2+1=3 
3×3+1=10 
10×2+1=21 
21×3+1=64 
64×2+1=129 
129×3+1=388 
388×2+1=777 
So the wrong number is 356 

 
50. If one fourth, half and one third of the number are added to the number 

itself, then result is equal to 25. Find the number. 
a. 10   b. 11  c. 12  d. 13 
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xU vz;zpd; ehd;fpy; xU gFjp> ghjp kw;Wk; %d;wpy; xU gFjpia mNj 
vz;Zld; Nru;j;jhy;>  fpilf;Fk; kjpg;G 25 f;F rkk;. vdpy; me;j 
vz;izf; fz;lwpaTk;. 
a. 10   b. 11  c. 12  d. 13 

 
Ans:  
Let the number be ‘x’ 

So given , ,
4 2 3

x x x are added with ‘x’ 

25
4 2 3

3 6 4 12
25

12

x x x
x

x

+ + + =

+ + + 
= 

 

 

x = 12 
 

 
 
 

 
 


